Rodent MAP 4.0 Rat

LDD LLOQ Precision Linearity Freeze-Thaw Bench-Top
Name Neat Serum Neat Serum | Level | Intra- | Inter- | Ser 1 Ser 2 | Ser3 | Plas1 | Plas2 | Plas3 | Serum | Plasma Serum Plasma
£ . 1 11% | 17%
.§ é 2.8 14 9.6 48 2 2% 6% 90% 95% | 103% | 103% | 101% | 104% Pass Pass Pass Pass
= | = 3 | 2% | 7%
~ . 1 10% | 14%
D) E_ é 14 70 32 162 2 4% 15% | 109% | 89% | 113% | 100% | 106% | 100% | Pass Pass Pass Pass
- = 3 | 3% | 7%
© . 1 9% 13%
- % 18 91 20 102 2 5% 9% | <LLOQ | 115% | 117% | 97% 94% | 119% | Pass Pass Pass Pass
I 3 | 4% | 8%
. 1 9% 14%
3 % 0.80 4.0 2.4 12 2 2% 14% | 100% | 117% | 112% | 114% | 86% | 103% | Pass Pass Pass Pass
= 3 3% | 6%
< 2 1 7% 8%
2 5 1.1 5.5 6.8 34 2 4% 5% 117% | 114% | 119% | 113% | 105% | 108% Pass Pass Pass Pass
S | ¢ 3 | 5% | 7%
5 . 1 | 6% | 15% ,
o =] € Fails 4hr
a ?2 1.4 6.9 4.8 24 2 4% 10% 106% 99% | 113% | 121% | 90% | 119% Pass Pass RT Pass
3 4% 12%
- . 1 6% 11%
&l %D 16 81 11 55 2 3% 10% 99% 88% | 128% | 110% | 98% | 117% Pass Pass Pass Pass
= = 3 5% | 8%
o . 1 9% 10%
g % 0.24 1.2 1.7 8.4 2 3% 8% 113% 97% | 130% | 118% | 100% | 116% | Pass Pass Pass Pass
3 2% 7%
a 2 1 7% 7%
a > 0.30 1.5 1.2 5.9 2 2% 5% 114% | 106% | 129% | 106% | 103% | 117% Pass Pass Pass Pass
e = 3 | 3% | 8%
. 1 9% 9%
g é 1.6 8.1 2.6 13 2 1% 7% 101% 92% | 115% | 120% | 93% | 111% Pass Pass Pass Pass
= 3 | 4% | 8%
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Rodent MAP 4.0 Rat

LDD LLOQ Precision Linearity Freeze-Thaw Bench-Top
Name
Neat Serum Neat Serum | Level | Intra- | Inter- | Ser 1 Ser 2 | Ser3 | Plas1l | Plas2 | Plas3 | Serum | Plasma Serum Plasma
w — 1 6% 7%
g é 0.46 2.3 1.4 7.2 2 3% 9% 104% | 102% | 120% | 124% | 101% | 109% Pass Pass Pass Pass
- 3 | 4% | 9%
s - 1 15% 17%
- é 3.0 15 4.8 24 2 2% 9% 112% 91% | 115% | 101% | 122% | 126% Pass Pass Pass Pass
- 3 | 3% | 3%
° 5 1 8% 10%
E %) 1.7 8.6 4.0 20 2 0% 8% 113% 124% | 130% | 113% | 109% | 122% Pass Pass Pass Pass
= 3 3% | 3%
s B 1 8% | 10%
E Z %) 0.57 2.9 0.58 2.9 2 1% 3% 103% 105% | 110% 97% 107% | 103% Pass Pass Pass Pass
g = 3 | 8% | 6%
o 1 4% 6%
3 é 2.6 13 8.4 42 2 3% 5% 95% 95% | 113% | 109% | 104% | 118% | Pass Pass Pass Pass
- 3 | 3% | 6%
3 z L 6% 9% Fails 4hr | Fails 4h
s | 5| 28 14 2.8 14 2 | 2% | 4% | 120% | 99% | 129% | 121% | 109% | 101% | Pass | Pass | oo [ OO
- 3 2% | 9%
5 . 1 5% 11%
5 I g %D 23 0.23 34 0.034 2 6% 14% 86% 107% | 112% 90% 112% | 115% Pass Pass Pass Pass
- > 3 | 5% | 14%
4 1 5% 36%
55 %D 0.14 0.68 0.24 1.2 2 3% 8% 80% 113% | 114% 91% 97% 116% Pass Pass Pass Pass
)
< = 3 2% | 7%
5 e 1 | 23% | 52%
g é 18 88 18 90 2 2% 8% 120% | 111% | 113% | 105% | 91% | 105% | Pass Pass Pass Pass
< 3 | 3% | 9%
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Rodent MAP 4.0 Rat

LDD LLOQ Precision Linearity Freeze-Thaw Bench-Top
Name
Neat Serum Neat Serum | Level | Intra- | Inter- | Ser 1 Ser 2 | Ser3 | Plas1 | Plas2 | Plas3 | Serum | Plasma Serum Plasma
= . 1 5% 39%
E é 1.6 8.2 2.9 15 2 3% 8% 126% | 126% | 130% | 98% | 106% | 109% Pass Pass Pass Pass
— o
3 2% 6%
o . 1 2% 34%
o é 0.45 2.3 1.2 6.0 2 3% 6% 98% 99% | 89% | 80% | 86% | 103% | Pass Pass Pass Pass
- o
3 2% 5%
. 1 3% 41%
3 %) 18 91 33 164 2 3% 8% 101% | 116% | 110% | 100% | 93% | 113% | Pass Pass Pass Pass
o
3 3% 7%
N . 1 9% 19%
5 %) 0.46 2.3 1.3 6.5 2 2% 6% 122% | 111% | 128% | 123% | 100% | 129% | Pass Pass Pass Pass
o
3 3% 3%
“ . 1 6% 11%
g é 0.00091 | 0.0046 | 0.0013 | 0.0064 2 4% 6% 109% 92% | 116% | 129% | 123% | 117% | Pass Pass Pass Pass
c
3 2% 1%
) . 1 6% 14%
% é 0.014 0.069 0.014 0.069 2 3% 9% 106% | 116% | 87% | 105% | 99% 79% Pass Pass Pass Pass
< s c
- 3 2% 5%
Q
E - = 1 5% 12%
E' %) 0.0034 0.017 | 0.0034 | 0.017 2 4% 6% 101% | 102% | 91% 84% 83% 84% Pass Pass Pass Pass
=
3 1% 5%
- 1 7% 14%
% %) 1.7 8.3 1.6 8.1 2 4% 9% 75% 92% | 100% | 116% | 77% | 138% | Pass Pass Pass Pass
° 3 2% | 13%
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Rodent MAP 4.0 Rat

LDD LLOQ Precision Linearity Freeze-Thaw Bench-Top
Name
Neat Serum Neat Serum | Level | Intra- | Inter- | Ser 1 Ser 2 | Ser3 | Plas1 | Plas2 | Plas3 | Serum | Plasma Serum Plasma
N 2 1 3% 9%
E > 34 17 4.2 21 2 2% 9% 140% | 130% | 131% | 123% | 129% | 135% | Pass Pass Pass Pass
= 3 | 4% | 10%
@ - 1 7% 15%
D) é 35 176 53 265 2 4% 12% 114% | 130% | 107% | 100% | 108% | 105% Pass Pass Pass Pass
I 3 | 3% | 6%
n - 1 5% 10%
E" 3 %D 0.48 2.4 3.0 15 2 3% 8% 116% | 122% | 119% | 130% | 119% | 128% Pass Pass Pass Pass
& = 3 | 2% | 5%
- 1 2% 12%
E% %D 0.34 1.7 2.2 11 2 3% 10% 85% 87% 93% | 113% | 97% | 109% Pass Pass Pass Pass
= 3 2% | 8%
» 1 9% 13%
g §D 0088 | 044 | 038 1.9 2 | 2% | 7% | 104% | 105% | 108% | 111% | 130% | 87% | Pass | Pass Pass Pass
3 2% 9%
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